ASSEMBLY INSTRUCTION
CANZONA Dresser & Stool

HARDWARE LIST
K. === | L Allen Key M4 1 pe
| L. | @ | M4 x32mm Screw 4 pes
M. | @=—mmm>- [ M4 x I8mm Screw 4 pes
N[ o M3.5 x [2mm Screw 2 pes
O.| [Pm= | M6x20mmBon 8 pcs
P. [}:—@ M6 x 45mm Bolt With Nut | 4 pcs
Q.| (=== |M6xs0mmsoi 4 pcs
| R. (J—=mm | M6 x SOmm Bolt 4 pcs
S. |- & Hander With Screw 2 pcs

Use
To Fixed
To Fixed
/]
______ I 895mm
TO Fixed To Fixed
PART LIST

D. Support Frame (2pcs)

T

B. Long Sidec Leg
(2pcs)

C. Mirror Frame(1pc)

E. Chusion (Ipc)

S

G. Front Support Frame

/ (2 pes)

F. Side Chair (2 pcs)

H. Back Chair (1pc)




